IB Math PreHL






Name:  _____________________________

Chapter 8 Test Part 1






Period:  _____

Calculators Okay. 
1.  The mayor needs to arrange a commission of 7 people sitting as chairs on a bench.  There are 3 women and  4 men in the committee.  

a.  How many different ways can the seating be arranged?
 [2]



1a. _______________
b.  How many different ways can the seating be arranged if the three women must sit together?  [3]












1b. ______________

c  How many different ways can the seating be arranged if the three women must all sit apart?  [3]
1c. ______________

2.  [6pts] Find the coefficient of 
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          2.  ________________

3.  [6 pts] Find 
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3. ________________
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